Cirkelrekenen tot 100 zonder brug
1. Oefening: TE + E 
Hoe los ik dit op?
TE   E               T + T 	      E + E         

46 + 13 =        40 + 10       +       6 + 3       =        50        +       9       =     49


In het kort
46 + 13 =           50           +           9         =     49



77 + 22  =			 +			=	                 +		          = ……….

51 + 18  =			 +			=	                 +		          = ……….

43 + 33  =			 +			=	                 +		          = ……….

62 + 23  =			 +			=	                 +		          = ……….

73 +  15 =			 +			=  ……….

10 + 69  =			 +			=  ……….

57 + 41  =			 +			=  ……….

Cirkelrekenen tot 100 met brug
1. Oefening: TE + E 
Hoe los ik dit op?
TE   E               T + T 	      E + E         

46 + 5 =            40 + 0       +  	   6 + 5       =        40        +       11       =     51

In het kort
TE   E               T + T 	      E + E         

46 + 5 =                40           +          11       =     51



77 + 5  =		       +			=			   +	                 = …….


59 + 8  =		       +			=			   +		       =	…….


92 + 6  =		       +			=			   +		       =	…….


73 +  8  =			 +			=  ……….

14 + 9  =			 +			=  ……….

86 + 5  =			 +			=  ……….


2. Oefening: TE + TE 
Hoe los ik dit op?
TE   TE          T + T           E + E           

46 + 35 =       40 + 30       +       6 + 5       =         70       +        11       =  81

In het kort
TE   TE          T + T           E + E           

46 + 35 =         70           +           11         =  81



24 + 57  =		        +			   =		           +		    =	……….

35 + 49  =		         +		   =		             +		     =	……….

17 + 56  =		         +		    =			   +	                =	……….
		
68 + 27  =			 +		     =	……….	 
		
57 + 16  =			 +		     =	……….	 
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